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A=1 el B=1 B
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ﬁﬁig‘{ﬂﬁi HO0 -0155

IR S5 (BRI, HEl, 72 TR, BOBRA &%) 1S $1000007 B0 -0115 #
P PREE 0. 6km fEE 12mPAN 1 2 )
L - Bk L HE EAAT E Kot | fii#%
HARESE BHE0-0116
TEHREERE 0. 6km 1. 000 Y
BIOE 12mPAN TERRE R 7.7t
118

BIA R, BUET L2242 2 H BHE0-0117

1. 000 =
kckok HANIM7-D 0 ckokok 1 7
A=0. 6 TEHR FE A (km) B=1 12mLL N
c=1 - D=1 -
E=7.7 I & (1) F=1 -
H=1 - J=1 -
=1 FEHIFEA A « BUEI L, BGHHA A, « B L




Jit T EfAf =%

H0 0156
FEAREE $1000009 B0 -0116
TEMREREE 0. 6km fAE 12ndN EREE 7.7t = B
SR - B e & M AL Hf &%
FEARER
1. 000 =X
SCHE PR D RS
340 HAREE
7.700 t
kokok HLY7ZD 0 kok ok 1 =
A=1 FHAEE B=0. 6 TEHE R AE (km)
c=1 12mEARN D=7.7 EHEE (L)




Jit T EfAf =%

B0 -0157
TEIA L, B LI B4 5 A S1000009 B0 —0117
1 = )
SRR - BT L g BAf EA A &BE ik
IR FEIA S B (Fhih)
7.700 t
IR B U (Bis)
7.700 t
R A E (B5)
7.700 t
RGRAEUHT U (FHh)
7.700 t
kcksk  HAfYT-D 0 skok ok 1 =
A=5 RS, BUEH LIS B 5 8 D=7.7 TR (1)
K=1 FEHIFEA A « BUEI L, BGHHA A, « B L
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AOFEHETE EREET



Je i e HEE T #itx (1/2)
#  H@E~1) I
T fl~2) BEXT ¢800mm YA HEME Tk
il Al = WAL | %% &
(L~13) (L~14)
X AL m 82.12
HEMEIE m 79.72
BRI m 80.62
Ve iR 2UHEE T HEXE SRR = 70— ME (JEI) m 79.72
HedE A %1 %N 67
GRPIEZE T %2 m 79.72
HIPIER T %2 m 79.72
THA L/H 384.4
T EEYEK m°/ A 2.734
bt kg/m’ 240.0
HERERS kg/m’ 1.8
EEir7) kg/m* 10.0
X kg/m* 891.6
HUAMEZRT %2 m 79.72
P HUN-HUOMEET B | m 10.31
fi# | m 25.52
MR EHR | m 43.89
FAE AR m® 99
HEIAD %3 m 79.72
EWN 7 s L/H 3239
B H & AT 66
¥ 1|SRj-affEE ¢ 800mm L=1.21m/A 2fE50N WEAPXIIEL SRCHEF
¥2| AR =6.2m/ H (8KFH)
3| HEIAD HEE=41.0m/H
ST AR L g 7 —NE gL 7V —NEAIRE T m 0.90
i LA m® 0.2
AT m’ 0.3




Je i e HEE T #itx (2/2)
# B~ I
T fl~2) BEXT ¢800mm YA HEME Tk
il Al = HAL | %% &
(L~13) (L~14)

IR L (Ve 2He) X EHE il & T 1
A T EVA €S & A 1
A & A 2
sio T SO T & F 1
BEH AT & F 1
ol & T 2
UV T D GIBHER %1 | m/ T 7.0
B N O R %2 | m/ & T 7.0
HEME AR 2 PR A & A 1
eS| Az A & AT 1
A=K t 1.04
P HE R AR AT ¢ 800, i+ = 1
A TR E PR HERE o) iR T $800| [m] 1
B 2 22 (Y T $800| Al 1

X174 —71—h t=2.7mm

X2| 74— —h t=2.7Tmm
BAE - B T T8 {3 B AR i 2y 1
FeMRAER L m 205
- YRR R L e R K TN RR i L & AT 1
W JeHE T A T & AT 1
Pe R E S T 20m3 & AT 1
NS L m 79.72
N T e ] & AT 1
HEME AR T HEE FH KRS 2V 1




e A HE T % &ax % (1/3)

PR OEEHEE T JRE 6800

i il gl H B E X WAL | &
X AE S L= 82.120 m  + m  + m  + = 82.120 m m 82.12
HEMEIE = L= 82.120 m  — 150 m  — 0.90 m = 79.720 m m 79.72
EIER L= 82.120 m - 0.75m - 0.75 m = 80.620 m m 80.62
EAT BRI & L= 80.62 m - 79.72 m = 0.90 m m 0.90
HEE 48 1=1.21m n= SRJ-a 2fE50N SRCHF AJE4PK] G = ZN ZN 67
n= = ZN ZN




Je o XM T omoB B E R (2/3)
R O RREHEE TiE JelR=C ¢ 800
i Al gl H B E X WAL | g &
BIPIEZE T WE L L= CE#)) A e 6.2 m/H m 79.72
[EL AR d= 10.312m  + 7.0 m/H 1.47 H M HMERE=7.0 FIAP231 m 10.31
HiFE d= 25.519 m  + 6.30 m/H 4.05 H MT.0X0.9(HIEHE) HAP2 m 25.52
i % EL AR d= 43.887m  + 5.95 m/H 7.38 H ¥T7.0X0.85(fIEHE) HAP m 43.89
d= m =+ m/H H
d= m =+ m/H H
L= 79.718 m 6.2 m/H (ASUFH))  Xd= 12,90 A
HLATERE T L= m 79.72
tiatZ] V= 62.0 L/m X 6.2 m/H = 3844 L/H
1B O AL &1, BARP2345Y
e FEJE /K V1= T /4 X( 0960 m + 0.050 m X 2)2 = 0.882 m*/m
TR AR IEAE =1{0.340.3X0%+0.7X0% 2} X100= 30% — 50% -++ [1AP.234
V2= 0.882 m*/m X 50 % = 0.441 m*/m
V= 0.441 m*/m X 6.2 m/H = 2.734m%/H
Kt W= 240.0 kg/m’
HERGRF W= 1.8 kg/m’
EZ1 W= 10.0 kg/m’
K W= 891.6 kg/m’ -+ FIAP.234
HUAMERT L= m 79.72




e A HE T % &ax % (3/3)

g Al
il bl i H =) E 2y WAL | M &
R R V= 7 /4 X 0.960 m"2 X 79.72 m = 57.703 m’
) & V= 7 /4 X 1.060 m™2 X 79.72 m = 70.351 m®
e B VR KA & V= 0.44 m*/m X 79.72 m = 35157 m°
OCHRD50% 84 & -v=(  70.351 m* —  57.703 m’> )X 50 % = -6.324m’
YV= 99.184 m’ | m’ 99.2
FEALEHEP. 2670
HiAD = m 79.72
A & V= 79.0 L/m X 41.0 m/H = 3,239./H
HOAM O EAE A &L, HEERLY
B HHh n= 67 &KX — 1 f&Pr = 66 fEpr | f& AT 66




NN OB fi XL kR EEE (1/1)

PR OEEHEE T JRE 6800

il bl i H =) E 2y WAL | M &
B U —E
BRig o 7)) —NE R R Hete T ¢ k- N
a7V —MEA % L ¢ 800mm HEE T 10 m 0.90
B
FLAIL V= 7 /4 X 1.200 m2 X 0.620 m = 0.701 m’
—V= 7 /4 X 1.016 m'2 X 0.620 m = -0.503 m’
YV= 0.198 m® | m’ 0.2
B & 1200988 = 1219.2—9.5X2 = 1200.2 = 1.20m
TR T A= 7 /4 X 1.200 m2 X 1 = 1.131 m°
A= 7 /4 X 1.016 m2 X 1 = -0.811 m®
YA=  0.320 m* | m® 0.3




% i L (e . N HE ) B B E % (1/2)
PR OEEHEE T JRE 6800
T il HH H B TE = AL &
X EEE i i
I — AR S LS % T
gL HEHLO T &
RO T % AT
v T (E5
FBEOUIMIIEE L= 7.0 m SA4F—7L—h t=2.7mm
BEOUIWIIEE L= 7.0 m SA4F—7L—h t=2.7mm
HEE B R A » 800 & P
IERS EHZ & % AT
ZEE® W= 1.04 t - R BEAEP.280




o i L (e & X H#E ) % o’ 5HoE % (2/2)
R ARREHERE TIE e ¢ 800
T il it H L E A AL | &

R AT ¢ 800, ¥t &
i B 5y B H AR BNIVEIRHRP.205 =)
e V= m’
gt Jubs V= m?
i e Bl o i 1 ¢ 800 [=]
f e ) ] T ¢ 800 ]




BAE - B R L & &8 % (1/1)
ok DR HERE TR TR ¢ 800
T il HH B TE = AL &
1S B AR R T 2V
L1= 20 m
H= 208m —  -0.70lm = 2.781 m
HEEIER = 79.720 m
L= ( 200m + 2.781m + 79.720 m )X 2 = 205.002 m
B i 2V
Lk= 10 m
H= 208m —  -0.70lm = 2.781 m
L1= 0m + 2.781m + 100 m = 112.781 m
2= 79.720 m — 100 m = -20.280 m
L= 112.781m +  -20.280 m = 92.501 m
L1+12+2= 112.781m + -20.280 m —+ 2 = 102.641 m

3¢ HEEER N 100m AR 72 D TR ELZ2WN




* o e RO OL %R E E R (1/1)
R ARREHERE TIE e ¢ 800
il Gl il B iE X B | B &
PV AR T L !
W e dk tm i T i |
Pty AR E R T |20m3 P )
BB s T L= m 79.72




EON R L R B E R (1/1)
PR OEEHEE T JRE 6800
fil bl il B E 2y BT &
HEA R i




He 8 K T % & 85 ® % (1/1)
PR OEEHEE T JRE 6800
T il HH B TE = AL &
HEE FH AkORE =
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T R—ILT



FAST3 B~ AR—IL T ek
# B~ I
T fl~Lr2) < R —/)L T
il Al = HAL &
(L~13) (L~14)
FERASI Sy
FSL 3B~ A—IL = R — LR m 2.781
HA B IR 2B A ¢ 600 T-25|  KH 1
A B
t=45mm {i# 1
FEEY T
¢ 600 h=150 1 1
R}
¢ 600-900 h=300 1 1
[ELRE
$ 900 h=300 1 1
Hh [ Ao
$900-1500 h=300 1 1
SN A=
¢ 1500 h=1800 1 1
JEEJR
h=150 1E 1
AIEOHEF
VU ¢ 800 & 1
VU ¢ 350 &
HilFL
VU ¢ 450 & AT
VU ¢ 350 & AT
M~ — VERE L
AmPLTF & AT 1
I V2V m® 0.01
JEEHB L
ST LA )L m® 0.03




M3 B~ B — L

Fots
Iﬁbr

HL %R E R

W7 35
T il HH H B TE = B | % B
M-5
<R VIR 2.781 m , m m |, m St L IR — VTR m 2.781
R K O i ¢ 600 T-25 n= 1+ W+ WMo+ HH. = 1 A HH. 1
TR A E t=<25mm n= 1\ + -+ |+ & = & &
t=<45mm n= 1 @ + M\ + ®\ + 1 = 1 & 1 1
kYN ¢ 600 h=100 n= -+ @+ i+ 4] = 4] g
$ 600 h=150 n= 1 fE + i\ + W+ 4] = 1 & & 1
BHEE $ 600-900 h=300 |n= 1 i+ @+ @+ 1 = 1 1A 1 1
RS $ 900 h=300 n= 1 i+ \ + W + {E] = 1 1A 1 1
$ 900 h=600 n= \ + @+ 1\ + {E] = {E] 1
$ 900 h=900 n= \ + @+ 1\ + {E] = {E] 1
$ 900 h=1200 n= \ + @+ 1\ + {E] = {E] 1
$ 900 h=1500 n= \ + @+ 1\ + {E] = {E] 1
r ) R $ 900-1500 h=300|n= 1 fE + @+ 1\ + {E] = 1 & 1 1




M3 B~ B — L

Fots
Iﬁbr

HL %R E R

M7 35
fl il 0 H B TE = B | % B
M-5

AR w7 é 1500 h=1200 |n= ®\  + ®\  + |+ g g &
é 1500 h=1500 |n= ®\  + ®\  + W+ 4] 4] &
é 1500 h=1800  |n= ®\  + ®\  + W+ 1# 4] &
é 1500 h=2100 |n= ®\  + ®\  + W+ 4] 4] &
6 1500 h=2400 |n= ®\  + ®\  + W+ 4] 4] &

L R é 1500 h=300 n= ®\  + ®\  + W+ 4] 4] &

JE B h=150 n= ®\  + ®\  + ®\ + i i &

B LHHET VU ¢ 800 n= i+ @+ @+ {E] {E] 1
VU ¢ 350 n= i+ i+ @+ {E] {E] 1

KEEAS VU ¢ 450 n= »ET + »ET + rET + Vabil | AT
VU ¢ 350 n= »ET + »ET + yET + Vabil | AT

T W=300 n= |+ @+ m + {E] {E] {E]

HIJFL VU ¢ 450 n= »ET + »ET + yET + Vabil | AT
VU ¢ 350 n= »ET + »ET + rET + Vabil | AT




ML 3F~r A — L EE T K & 85 8 % (3/3)
FERVASE=
il bl i H B E 2y WAL | M &
S AR— VR E T [AmLLTF n= 1 »F7 + »AT + 7T+ il = 1 »pr| BT 1
AmB~5mLLF  |n= »ET + »iE + yiT + Vil = AT T
S5mB~6mIL T |n= »ET + »iT + yiT + Vil = AT T
IV HEE L2V h= 0.041 m -+ m + m + m = 0.041 m
V= 7 /4 X ( 0.82 m2 — 0.60 m2 )X  0.041 m = 0.010 m®* | m’ 0.01
T FHAL T L)L V= 7 /4 X 1.80 m2 X 0.010 m = 0.025 m’
V= 7 /4 X m2 X m = m®
V= 7w /4 X m2 X m = m°

YV= 0.025 m® | m’ 0.03
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M-5 N BT T e (1,/2)
# A1) I
T FE(L~Lr2) SEHUT. M-5 W3 HENLHT T A F—7 L —F ¢ 3000mm
(il Al i = HAL &
(L~13) (L~14)
SEYUE H=3.161m
BT
=gl vz i ANyZRTHEE | m? 14
A T ALER A ALY T m® 35
FAF =T = LB TR OLT
ARz 7Y —k 27—k ¢ ck=18N/mm2 m? 0.9
FU m? 3.4
HiEmEBEEL EHEEY | m’ 0.9
o U CoHl 7 m* 0.9
FAF =71 —MEH -8 m 2.66
FAF—F L —MEE] T8 T
M7 3000mm BH
R+ K ORGP+ m 2.66
2 m —
es) m -
779N m? 2.3
FAF—F L — R TR I AR T m® 20
FAT—T L —MiE L m 0.99
FAF—T L —MFE FTAF T —h m 3.00
TAFT =TV = M GRS BRI ERE t -
AT t 0.378
SEHURERE T BT RC-40 t=200mm m? 7.1
a7V —h ¢ ck=18N/mm2 m® 1.1




M-5 HFEHEL YT T 3t (2,/2)

%  HO~L1) =4

5

=]
T fl~Lr2) SEHLT. M-5 iR HENI L 74— L —h ¢ 3000mm
(il Al i = B | B &
(L~13) (L~14)
I 1 7 L
%L TR - 78 TR TR B S T
HEHEST HT50m2LL T m? 16
27—k ¢ ck=18N/mm2 m? 0.2
AT m? 0.9
HiEmEBEEL EHEEY | m’ 0.2
g A% CoHl 7 m® 0.2
TR E RS
7 T m? 16
TR AMT BB
M7 t 1.290
Lii4p) t 0.688

AV ik t 0.402




M-5 [ 3¢ # 37 P L % & & * (1/7)
¢ 3000mm7 A —7L —Fh SHE H= 3.161 m
iy a1l wmooH B iE BAfT &
icg gl Bl E= 0.08 m CAEE S IS 0.31 m
SEYUHR YT 2 7R BRI V= 430m X 430m  X( 0.85 m 0.08 m = 14237 m® m® 14.2
0 88 T V= 7 /4 X 3.18 m™2 X( 3.511 m 0.85 m = 21.134 m’
V= m X m X m = m°
YV= 21.134 m®
B ALER A RS T V= 14.237m> +  21.134m® = 35371m’ | m’ 35.4
HARa ) —k
a7 —h o ck=18N/mm2  |V= 7 /4 X 3.60 m'2 X 0.30 m = 3.054m’
—V= 7 /4 X 3.00 m2 X 0.30 m = 2121 m’
YV= 0.933m’ | m’ 0.9
R A= T X 3.60m X 0.30 m = 3.393m°
A= 7 X m X m = m?
YA=  3.393m® | m® 3.4
REE Y EUE L RS V= a7 —hEICFL = 0933m’ | m’ 0.9
TSy Cot'o V= REE EUE L B FRC = 0933m’ | m’ 0.9




M-5 i 3§

2/7)

I==R
¢ 3000mm7 1 —7L—Fh MHLE H= 3161 m
i il MoH B E X BT &
FAF—7L—hEHI+8
FAF—7 L —MMiEH ¥ T | #lsRY 7
F7 3000mm BH WE LR ORHEL L= 2.661 m + + + 0.20m X =  2.661l m m 2.66
O+ L= m  + + + 0.20m X = m m
e L= m  + + + 0.20m X = m m
F7 3000mm CS VE8mIZ P& - UK T | L= m + + + 0.20m X = m m
O+ L= m  + + + 0.20m X = m m
e L= m  + + + 0.20m X = m m
F7 3000mm CS VESmE P& - UK T | L= m + + + 0.20m X = m m
O+ L= m  + + + 0.20m X = m m
e L= m  + + + 0.20m X = m m
779N T V= T X 3.09 X 0.09 X 2.661 m = 2.325m°
V= m  X( — )X m = m’
Yv= 2325m’ | m’ 2.3
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M-5 i JE HE N7 BT T M & HOE % (3/7)
¢ 3000mm7 1 —7L—Fh MHLE H= 3161 m
i Bl i A E 20 HLAT &
IAT—7 L —MEKE
Bk AR T V= n /4 X 3.00m2 X(  35llm — 0.85m ) = 18.810 m°
V= 430m X 430m  X( 0.85m — 0.31m ) = 9.985m’
FERR : Heaf -V= n /4 X 3.00 m2 X 0.35 m = 2474 m°
B JEE AR -V= r/4 X 1.80 m"2 X 0.16 m = -0.407 m°
R A -V= r /4 X 1.75 m"2 X 1.80 m = 4330 m°
PERR: PEIALEE |-V= r/8 X 1.75 m"2 + 1.05 m"2 )X 0.30 m = -0.491 m’
PR [EBE -V= n /4 X 1.05 m™2 X 0.30 m = -0.260 m°
PR L -V= n/8 X 1.06 m™2 + 0.82 m2 )X 0.30 m = -0.209 m°
B 1 HP ¢ 800 -V= r /4 X 0.960 m2 X 0.625 m = -0.452 m°
PEBR:VU 450  |-V= r /4 X 0.470 m2 X 0.625 m = -0.108 m°
PEBR:VU$ 350  |-V= /4 X 0.370 m2 X 0.625 m = -0.067 m*
V= 19.997 m’ | m’ 20.0
FAF—FL—MitET | ¢ 3000 L= 1500 m  — 0.511 m = 0.989 m m 0.99




M-5 ] %% # 2 YT L % 8 B oE % (4/7)
¢ 3000mm7 A —7L —Fh SEHUZE H= 3161 m
T bl B B iE E2V L &
FGAF—F L — IR H-250X250X9X 14 W= 0.080 t/m
H-300X 300X 10X 15 W= 0.100 t/m
H-350X 350X 12X 19 W= 0.150 t/m
H-400X 400X 13 X 21 W= 0.200 t/m
IERMERERE T e W= m X P NI t/m =
JEREL W= m X KX t/m =
JEREL W= m X AKX t/m =
)42 W= m X . N t/m =
)42 W= m X . N t/m =
B > W= ©)
B R (A) W= t X 22 % = ®
B R (B) W= t X 4 % = ®
XM BE w= O+0+0 S W= t
SR E S w= O+@ > W= t
IAT—TV—MFE T4 —Fh m 3.00
VLN N4




M-5 [ 3¢ # 37 P L % & &

S

¢ 3000mm7 A F—71L—h

SEYLIE H=

3.161 m
il bl oA B E 2y BT &
SEHUAERE T
By RC-40 t=200mm  |A= 7 /4 X 3.00 m"2 = 7.069 m* | m® 7.1
a7 —k o ck=18N/mm2  |V= 7 /4 X 3.00 m2 X 0.15 m = 1.060 m®
V= m X m X m = m’
YV= 1.060 m* | m’ 1.1
BT
TR T M e T | HEE N HT50m2LL T | A= 400m X 4.00 m = 16.000 m* | m® 16.0
a7 —h o ck=18N/mm2 V= 430m X 0.25m X 0.10m X = 0.215m° m® 0.2
FUPE T A= 430m X 0.10m X 2 = 0.860 m* | m° 0.9
REE Y EUE L AR TS V= a7 —hEICFL = 0215m° | m’ 0.2
TSy Cot'o V= REE EUE L B FRC = 0215m® | m’ 0.2




M-5 ] 3¢ o 37 P L % & &5 ® %
¢ 3000mm7 A —7L —Fh SHE H= 3.161 m
T bl B B iE E2V HAL | % &
SR A & FAF—FL—h W= 0.335 t/m
W= 3.00m X 0.335 t/m 1.005 t t 1.005
BT W= 0.200 t/m*
W= 400 m X 400 m X 0.200 t/m* 3.200 t t 3.200
M H-300X 300X 10X 15 W= 0.100 t/m
W= 430m X 3% X 0.100 t/m 1.290 t t 1.290
Wizl H-250X250X9X 14 W= 0.080 t/m
W= 430m X 2 % X 0.080 t/m 0.688 t t 0.688
AR [-200X 80X 7.5X 11 W= 0.0246 t/m
W= 400 m X 2% X 0.0246 t/m 0.197 t
W= 416 m X 2% X 0.0246 t/m 0.205 t
0.402 t t 0.402
SRS B HH 15 TR W= WA EREICFEC 3.200 t t 3.200
AT W= AEEICET 1.290 t t 1.290
iz W= A EEIC[EL 0.688 t t 0.688
A R) W= A EEICFRL 0.402 t t 0.402




M-5 i JE HE N7 BT T M & HOE % (7/7)
¢ 3000mm7 1 —7L—Fh MHLE H= 3161 m
i il Mo H B E A WAL | &
20T IAF—7TL—h W= 0.335 t/m
W= 0.036 t/m”
i W= ( 1.500 m  — 0.511m )X  0.335 t/m 0.331 t
$EH0 :HP ¢ 800 |W= n /4 X 1.060 m'2 X 1 i ¥ 0.036 t/m” 0.032 t
U1V :VU ¢ 450 |W= r/4 0.570 m™2 X 1 i ¥ 0.036 t/m” 0.009 t
$i10 VU ¢ 350/ |W= r/4 0.470 m™2 X 1 i X 0.036 t/m” 0.006 t
X OB A MEcmDRBEH E W 0.378 t t 0.378

(st TR a2 HEdE TR ST YU ) (201 14F 2k

B, AESAEETEN B ARHEREH A i 22) P.130

FA4F—7L—F2.7mm

312kg

NN

23kg

Im¥*Y

W’ =312+23=335(kg)

1m*24 Y

W’ =335+9.42=35.6(kg)
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HEFEAN(CHEAN —F T3 HEGTR) M3
#  HOL~LD g
T FfE(L~r2) ST T
(Il Al o= W7 =
(L~r3) (L~ 4)
il Bh A e B T
FEWRIEN
(M-2 BIGESTHL BLA) RREAT “@EAh—F Bl | AR 4
N= 9.6 Ll=
b= 2 L2= 2.17
Qs= 774 L3= 1.78
(M-5 Z&HESNTHT (HIBEER)  [EAT —@EAN —F BR[| A 99
N= 6.6 Ll=
b= 2 L2= 2.79
Qs= 1,356 L3= 2.22
(M-5 FHESLHL JEARED)  [RRIEAT —@EA—F-BESR | OA 8
N= 10.4 Ll=
b= 2 L2= 2.79
Qs= 520 L3= 222
(M-5 F&HENT T FURfAlET O ) BRIREAT “EEAN-—F-BAhR | R 1
N= 9.3 Ll=
b= 2 L2=1.86
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M-2 BT $10 (EIE#HEA= 400 m’]
[(TARLYZFAE Qs= 774 (L/AK)]
[EZAR#E n = 4 ()]
1ARHY 18HY
&R FEAE | HOEIAE | HER Hill FLEF P AR | GEARM | WY | IR
HIFLE FAR AEMRE ML= B 51tk B IR | ET A%
TERER BIRE | BRE m3Y) as=18(L/%}) Ti+T,
Lo N{E L o \ A V¥ A BERE | a* v Lo | V¥1000/n| Qs/gs Yoy, | T+ T, 60%H%2/Ts| n/N
(m) (m) (m®) (%) V(kL) TG | v(5m/m)| T, | Qs(L/A) | Ti(4) Ty(5) Ts(4) | NC&R/H)| D(H)
3.954 2.000 1.0 8.000 3.093 14 18.0 774 43.0 3.9 79 9.6 0.4
0~ 4 1.784 7.136 38.5 2.747 | R FBED. 687 38.2
L 1784 | 4~38 0.000 | 30"k 0.000 30.0 0.000 |HEMmAR 1. 4.0 7.1 0 0.0
8~15 0.000 1.0 0.000 15.0 0.000 |Z&E%ki%. 0 0.0
0~10 0.216 | 100° K3 0.864 40.0 0.346 (D EFAE 87 48 H=6.385F
WEL 2.170 | 10~30 0.000 1.35 0.000 32.0 0.000 5.0 10.9 0 0.0 Y ,=2.0(5/m) L35
308k 0.000 | 100°AE 0.000 21.0 0.000 | * $TE&FH 0 0.0
10~30 0.000 15 0.000 40.0 0.000 [f@IE1m 0 0.0
Mg+ 0.000 | 30~50 0.000 0.000 28.0 0.000 #1Z#L 8.0 0.0 0 0.0
5080 E 0.000 0.000 20.0 0.000 (¥ % 0 0.0
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HIfLE FAR AEWE | XRL=E B 51tk B IR | ET A%
T EER BIRE | BRE m3Y) as=18(L/%}) Ti+T,
Lo N{E L o v A V¥ A BERE | a* v Lo | V¥1000/n| Qs/gs YL, | +Ty+T,|60%H%2/Ts[ n/N
(m) (m) (m®) (%) V(kL) TG | v(5m/m)| T, | Qs(L/A) | Ti(4) Ty(5) Ts(4) | NC&R/H)| D(H)
5011 3.600 10| 76.356 29.836 14 229 1,356 75.4 2.8 115 6.6 33
0~ 4 2.221 47.107 385 | 18.136 |#MFEEN. 824 45.8
L 2.221 4~ 8 0.000 | 30°FKiH 0.000 30.0 0.000 |#&ARAEAT. 4.0 8.9 0 0.0
8~15 0.000 1.0 0.000 15.0 0.000 (BRE %%, 0 0.0
0~10 1.379 | 100"k 29.249 400 | 11.700 | )RR 532 29.6 H=6.385F
mEt+ 2.790 | 10~30 0.000 1.35 0.000 320 0.000 5.0 14.0 0 0.0 Y ,=2.0(5/m) L35
308k 0.000 | 100°AE 0.000 21.0 0.000 | * $TE&FH 0 0.0
10~30 0.000 15 0.000 40.0 0.000 [f@IE1m 0 0.0
Mg+ 0.000 | 30~50 0.000 0.000 28.0 0.000 |&1Z#L 8.0 0.0 0 0.0
5080k 0.000 0.000 20.0 0.000 |93 0 0.0
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1ARHY 18HY
&R FEAE | HOEIAE | HER Hill FLEF P FEAZE | EARR | LY | ISR
HIfLE FAR AEWE | XRL=E B 51tk B IR | ET A%
T EER BIRE | BRE m3Y) as=18(L/%}) Ti+T,
Lo N{E L o \ A V¥ A BERE | a* v Lo | V¥1000/n| Qs/gs Yoy, | T+ T, 60%H%2/Ts| n/N
(m) (m) (m®) (%) V(kL) TG | v(5m/m)| T, | Qs(L/A) | Ti(4) Ty(5) Ts(4) | NC&R/H)| D(H)
5011 1.500 10| 10.605 4.165 14 229 520 28.9 7.0 73 10.4 0.8
0~ 4 0.721 5.097 38.5 1.962 (&L E). 245 13.6
L 2.221 4~ 8 0.000 | 30°FKiH 0.000 30.0 0.000 |#&ARAEAT. 4.0 8.9 0 0.0
8~15 0.000 1.0 0.000 15.0 0.000 |Z&E%ki%. 0 0.0
0~10 0.779 | 100° K& 5.508 40.0 2.203 (D EFE 275 15.3 H=6.385F
WEL 2.790 | 10~30 0.000 1.35 0.000 32.0 0.000 5.0 14.0 0 0.0 Y ,=2.0(5/m) L35
308k 0.000 | 100°AE 0.000 21.0 0.000 | * $TE&FH 0 0.0
10~30 0.000 15 0.000 40.0 0.000 [f@IE1m 0 0.0
Mg+ 0.000 | 30~50 0.000 0.000 28.0 0.000 #1Z#L 8.0 0.0 0 0.0
5080k 0.000 0.000 20.0 0.000 (¥ % 0 0.0
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A=2.00 % 0.50
M-5 ST FiREIO [EIFmEA= 100 m?)
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[EZAR#E n = 1 ()]
1ARHY 18HY
&R FEAE | HOEIAE | HER Hill FLEF P FEAZE | EARR | LY | ISR
HIfLE FAR AEWE | XRL=E B 51tk B IR | ET A%
T EER BIRE | BRE m3Y) as=18(L/%}) Ti+T,
Lo N{E L o v A V¥ A BERE | a* v Lo | V¥1000/n| Qs/gs Yoy, | T+ T, 60%H%2/Ts| n/N
(m) (m) (m®) (%) V(kL) TG | v(5m/m)| T, | Qs(L/A) | Ti(4) Ty(5) Ts(4) | NC&R/H)| D(H)
3.361 2.000 1.35 2.000 0.778 14 20.7 778 432 2.7 81 93 0.1
0~ 4 1.500 1.500 38.5 0.578 |MFEEN. 578 32.1
L 1.500 4~ 8 0.000 | 30°FKiH 0.000 30.0 0.000 |#&ARAEAT. 4.0 8.1 0 0.0
8~15 0.000 1.0 0.000 15.0 0.000 |Z&E%ki%. 0 0.0
0~10 0.500 | 100" 0.500 40.0 0.200 D EFE 200 1.1 H=6.385F
WEL 1.861 | 10~30 0.000 1.35 0.000 32.0 0.000 5.0 12.6 0 0.0 Y ,=2.0(5/m) L35
308k 0.000 | 100°AE 0.000 21.0 0.000 | * $TE&FH 0 0.0
10~30 0.000 15 0.000 40.0 0.000 [f@IE1m 0 0.0
Mg+ 0.000 | 30~50 0.000 0.000 28.0 0.000 #1Z#L 8.0 0.0 0 0.0
5080k 0.000 0.000 20.0 0.000 |93 0 0.0
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